
0 No 2 

(0 No 

0 No 4 

) No S 

0 No 6 

() No S 

Which pressure is adjusted by limitiny: valve? 

A)F-lpressure / 1 c4TA 
C)FP pressure /) caa 
Unit of Air Flow Indicator (AFI) is? 

C)Wagon read1ng / � fa 

A) Two position setting / Refa f| 

Air supply lor horn is lrom. 

llow many position settin!, of C3W distributor valve has 

A) MR-I tank / yU3IIN-1 t 
C) iler / ' h'e 

A) 50 sec / 50 ta 

C)2" 
iviiN suiciy vaiv IN sCI Ui picssur (ngcm ) 

A) 10.0 kg/em 
C) Above l0.5 kgcm 
Feed valve is charged from 

Max Permissible time for loco brake release in seconds is. The loco fitted with chock in C? 
relay valve. 

A) MR-| tank / H3TN1 

C).J" filter / hI 

Wiper gcts the air supply from. 

AMR-|/TR-1 

COBP pressure /t zaru 

B) BP pressure / atdh cara 

Thread dameter of BP & FP angle cocks (in inch) is, 

D) Synchronization pressure / gTd q4Td 

|D) Km/h / fa/HCI 

)BP pressure / r catu 

Duriny which stroke inlets valves opens 

\) Sucion/H 

OPower/ 1 

B) One position setting / y rerfa 

D) No dillerent sctting/ ols d4| ic 181 

B) MR-2 tank /3MTR-2 
D) Duplex Valve / H Td 

B) 40 scc / 40 h 

B) 3" 
D) 1% 

B) 6.0 kg/cm 
D) Below 6.0 kg/cm 

B) MR-2 tank /H3ATR-2 
D) BP pipe / GT 

T'he governor of air compressor get supply from. 

B) MR-2 /RTR-2 
D) HS-4 valve / ye-4 T 

D) B.C. pressure/ ¥rii zaTa 

B) Compression /4 
D) Exhaust / TH 
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How many cam shaft bushes are fittcd in one 16 cylinder block? 

A) 14 

C) 18 
White smoke given by engine is due to 

A) FIP not responding / 
C) Cylinder head crack internally 

A) Injcctor nozzle hole chocked/ 

A) Linear wear / G YEa 
C)Dust /g 

What are the possible causes of injector not responding 

Cyl. Hcad hydraulic testing is done at 

C) Fuel cam lob damage / §H aa aft 
What is the cause of increase silicon in lube oil 

A) 5.3 hgyun2 
C) Kg/cm2 
Engine given thick black smoke due to 

A) Low BAP/hH BAP 

A) 50 ft. lbs. 
C: 30 ft. lbs 

A) OST / Ì.gut 
C) ACP/ t 

B) 16 
D) 20 

Compression ratio of the engine is 

B) Tappet phasing disturbs ! 

D) X-head having abnormal sound 

C) Defective CCE motor/q¡t #IS HER | D) Defective manifold / Gqut Aa1s 
Torquing of injector is done at 

A) Increase /lã 

B) Phasing on up position 

C) Neither increase nor decrease / 

D) Any of the above /4 3T 

B) X-head wear / yai-6 EIa 

D) Water leakage /yrf era 

B) i0.0 hgcmz 
D) 2.5 

Out of which safety device, engine comes to idle 

B) Less fuel oil level /#4 SU ta AR 

B) 80 ft. lbs 

D) 60 ft. Ibs 

B) LWS/ ySYy& 

A)The ratio of volumes of air in cylinder before compression stroke and after compression 

B)Woleme dinpleced by pislon r slroke and clerarnce volune in cylindes.! g 

D) Low lube oil indication / H faoS ac 

Ratio of pressure after compression and before compression/ #ST è aT r HÁgA � 

D) Swept volume/ Cylinder volume/ Re i/ ftdsr atequ 

B) Decrease / 
D) Decrease upto certain limit and then increase 

fieineiaiuit ui iniant air is iüwCicu, iiicii iis cficieiicy wi! 
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The process of breaking up of a liquid into fine droplets is called 

A) Vaporization / qetar 
C) Injection /$rT 
Buffer height can be adjusted by 

A) Adding shims to load pads & side B) Adding shims to snring seat / fT e fH 

C) Both ,A" & B"/T r ­t ci 
Amount of shims that could be added to centre pivot & side bearers to adjust side buffer height 
A) 50 mn 

C) 12 mm 

A) 5 mi 
C) 15 mm 

Minimum distance between brake block & wheel in release position should be 

A) 1010 mm 

C) 1030 mm 

B) Carburation / RYT 
D) Atomization /RHTUJ•TRUT 

A) 04 
C) 02 

D) None of the above /54 

Service limit of wheel dia. of diesel locomotive (In goods service) is 

Big Fqualising beams are fitted on 

B) 21 nm 
D) 35 mm 

D) mm 

D) 20 mm 

Number of Tie bars in cach bogie of a WDM3A Locomotive is. 

A 

B) 1040 mm 

D) 1020 mm 

B) 08 
D) 03 

A) Wheel No. 2-3 & 4-5 ofa WDM3A 1ocomotive 
B) Wheel No. 1-2 && 5-6 of a WDM3A locomotive 
C) Whee! No, 1-2 & 4-5 ofa WDAM3A locomntive 
D) Wheel No. 3-4 & 4-5 of a WDM3A locomotive 
Buffer height can be adjusted by 

A) Adding shims to the loading pads and B) Reducing shims from the loading pads and 

C) All of the above. / gqaT A D) None of the above. / GyI À T 
Which is not a reason of Wheel Skid in ALCO Loco? 

A) Sumultaneous application of air brake and dynamic brake in the loco 

B)Defective brakes or 
C)When the Locomotive is kept running with brakes binding 

r releasing of brakes. 

D) When the Locomotive is Stalled for long time 
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It should be strictly ensured that the Brake blocks 

A) Never touch the root of the wheel / 

C) All of the above / sut r 
Slack adjusters are required to 

A) Maintain proper alignment of brake biocks and prevent biased wcar of whecis & brakc 
blocks 

B) To pull brake blocks towards the root/flange of the wheels 

D) None of the above 

C) To facilitate skewed movement of piston rods. 

hich statement is nct correct abou! the load bearers! 

) eaeR HTR T T 60% HIST 
A) Share Approximately 60% of the vertical load 

C) Each carry 20% of the vertical load 

B) They are on cross member of the frame between the middle and trailing axles. 

D) All of the above 
) gytt T 
Full trom WDG3 

WDG3 T qu H 
A) Wide Double Gage 3 

C) Wide Diesel Goods 3 
Hours Power WDM3A 
A) 3000HP 

C)3200HP 

B) Never touch the flange of the whecl 

A) 8 

D) None of the above / GT T ¾1 

C)6 

A) 0.8 to 1.2mm 

C) 2uun iu 3 nun 

The total nos. of main pole in Auxiliary Machine type AG-51 are 

A) 40 
C) 10 

B) Wide Diesel Gage3 
D) Wide Double Goods3 

A) 2 to 3 mm 
C)4 to 5 mm 

| B) 3100HP 

The gap between inner and outer drum of ECC (Eddy current clutch) is 

D) 3300hp 

B) 2 
D) 4 

The Axle Generator has total numbers of' magnetic poles 

B) 1.9mm to 2 mm 

B) 80 

D) 20 
Claeane between brush holder und sip ring fTraetiun Alternutor type !9!06 AZ is 

B)3 to 4 mm 
D) 1 to 2 mm 



No 40 Oscillator cad is also known as 

A) |8N card 

()Scand 
The Irachm Mo Blower is Muatel on 

A) AuNlary Genertor 

()72\ 

Txal \tage Battenes n WDG4Loo (lead acid ivpe) 

A) Vig1lance cvele, 

A) 32 

C)64 
No of Radiator tan in WDP4 &WDG4 Locos 

C)03 

C) Penalty brake Cvele, el da dah, 
Total nos of cell of Batteries in WDG4 Loco (Lcad acid type) 

WDG4D is specially design for 

A) Passenger Service, Ua ta 
C) MINed Service,/ Hid H 

WDG4 is a 
WDG4 s 

Nd. 

A) Single Cab Loco,/ 
C) Dual Cab Loco with Disc Brake, / 

A) 8 

A) MR-1 Pressure,/ H3TR-1 A14 

C) BP Pressure, / r ter 
hQ!DLtivei 

WDG4D G 

A) 2298 meters, 
C)2L7 meters, 

D) 254 card 

What is transition 

To operate sander, air supply is rcccived fron 

B) TCCI 

A) Change of input voltage to TMs 

C)Change of loco speed 

B) 75V 

D) None of these /l o) 

3) Warming cyce, / na o, 
D) All of these. / nli 

) How many cylinders are in HHP Loco Engine? 

B) S0 

D) None of these / g- 16 81 

D) None of these / 

B) Goods Service, / A NI 
D) Nonc ot the above, / s4 o8 i 6 

B) Dual Cab Loco, / S 
D) Dual Cab Loco with Hotel Load. 

B) 12 

ha lol 

D) None of the above / f 

B) MR-2 Pressure, / RTN-2 G41a 
D) B.C. Pressure. / 1. cNIA 

B) 21.24 meters, 
D) None of' the above./ $t + af ) 

B)Change of Input Current to TMs 

D) CH Chunge of' combination olTMs 

$l e1 
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As specd incrcases, Back emf of IM 

) Initally dccrcases thercaller ncreases 

C) Incrcases / 4G, ATI 
Name of acid used in lead acid battery 

A,!SO, 

C)HNO, 
During vwhich stroke both valves closed 

A) Suction / 411 
C)Power / fad 

A) 002" 

C) 005" 

A) 5 miles /5 t 

Ifa car changcs spccd irom 

What iS minimurn dia clearance between can shaft & carrn bush 

B) Intally incrcaes hercaller decrcases 

C) Ihey hit at the sane time. /g14 U# É 

D) Decrcases /1e A 

returns back to its initual position The chanye in the position of the body is 

distance travelled is 

A) lirothcr / 

B;!C. 

C) Nephcw / 

D) Mixturc of lHCL & INO 

D) 40 m, 40 m / 40 ifee, 40 ea 

Ifa woman walks at a spced of 5 miles/hour for 3 hours, shc will have walked 

B) Compresson / c4 

#1 

irandson 

D) Lxhaust / E 

B) 004 

D) 010" 

D) O m, O m/0 4te, o te 

A) 50 mph/minute / 50 ft ufa te 

) 54 mph/minutc / 54 ta ufa tèfi-e 

Tne mon is a nice piaCe tO Suuy ircc-faii Dccausc It nas no atmospnere if an asronaut on tne 

moon simultancously drops a hammer and a fcather from the same hcipht, which onc hits the 

ground first? 

B) 8 miles /8 fta 

ii) i5 muicsi i5i 

in onc minutc, ils average acccleration is 

hara st â ufã �°áè, sHEl Ht Ut 
B) 52 mph/minute / 52 tft ufa efte 

A wurnan introduces a man as thc son ol hc brothe of her mother. Ilow Is the man related to 

the wornan? 

D) They don't fall /a fna é t 

B) Uncle / 96d 

D) Cousin / H H 

and thc 

D, A fa4 yar Hfa fat 
B) NIcce/ Hild 

IFAis the brothcr of B,C Is thc SIster of 3, and C Is the father of D, how is D related to A? 

D) Granddaughter / 

|D) 4 mph/minute /4 ift uf uefre 
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PREM meeting is held at Railway Board level once in 

A) A month / HTK 
C) Six month / : HTE À 

Maternity leave is admissible to 

A) Married / faarfe 

After 120 

C) Marricd femnale with less (han lwo D) Murried us well as un-marricd lemaie wiln surviving children less than two surviving children 

A) Leave salary on average pay 

C) Leave salary on one third average pay 

A) 1827 

Firs: Train in ladia started in the year 

C) 1947 
Railway board Headquarters situated at 

A) Mumbai / Haa 
C) Kolkata / loIT 
Head of Zonal Railway is 

¢) PCME 
C) GM 

,during hospital leave Railway cmployce will be paid 

How many Zones in Indian Railway 

A) 18 
C)19 

A) ECR 

Jamalpur Diesel Shed is located in which railway 

C) NR 

D) None of these / 34À 616 T0 
..ailway female cmployee 

C) RESS 

From 01 01 2024 which are need to apply for leave 

01.01.2024 f 3ATGTA GTAT ETT 
A) Manual 

Full form of HRMS 

B) A Quarter / Hz À 

A) House Rest Manager System 

C) House Resource Management 

Supervisor 
Full form of GM 

A) Grand Manager 
C) General Manager 

B)Un-Marricd /3tfaarea 

B) L.cave salary on haif average pay 

D) None of these 

B) 1853 

C) 1951 

B) New Dclhi / feri 
D) Hyderabad /teRIAIG 

B) CÁO 
D) PCSO 

B) 20 

D) 17 

B) ER 
D) NFR 

B) HRMS 
D) E-Office 

B) Human Resource Management System 
D) House Resource Management System 

B) Goods Manager 
D) Gate Manager 
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A) JAG 

C) SS 

A) 5 

C) 6 

A) 6 

C)4 

A) 1853 
C)i85ó 

A) 3R 

C) yfreH 

Which day is celebrated constitution day ? 

A) 26 January/ 26 Gat 
C) 29 Devember/ 29 faR 

A) Member of Lok Sabha 

C) Member of state legislative council. 

A) Second / R 

C) Fivc / Íd 

What a minimumn age for L.ok sabha member? 

A) 25 Ycars / 25 gá 

C} 2! Years /21 T 

B) SAGi 

A) 7th / HTTAI 

D) JS/AS 

C) 3rd / 

B) 7 

Which of the below do not vote to clect the Indian president? 

D) 8 

A) 1920 Yrs. / 1920 aá 

C) 1930 Yrs. / 1930 q¢ 

B)3 

D) 5 

hen starting inc ion cG-opcraiion movcmcnt? 

B) 1962 

B) efau 
D) yd 

B) CIeI 

Who scored the highest run in the presently completed cricket World Cup 20232 

D) 4CHI 

C) Quinton de Kock / eA S0 6 D) Rachin Ravindra / tf ta 
Which renking of Indian cconomy in the world by method of PPP? 

B) 26 November/ 26 

D) 15 Augus/ 15 3T1 

B) The clected member of Rajva Sabha 

D) Member of state legisiative assembly / 

B) Third/ R 

Which place of India in the world on the basis of area? 

D) Tenth/ Hà 

B) 30 Ycars / 30 q 
D) 35 Years / 35 

B) Sth / rga 
D) Ist/ VBdI 

B) 192I Yrs. / 1921 q 
D) 193I Yrs. / 1931 g 
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Who was the last vicc-roy in India 2 

A) Lord Mountbetton / càcH 
C) Lord Wavell / É Tà 

Fundamental right are mentioned in which part of Indian constitution ? 

C) Ilrd/ e TRT 
Who is the vica-chairman of NITI Aayog ? 

A) Arvind Panagaria / 3fdz f3a 
C) ivioniu Siugit Auiuwaiiuwc fio SHuiAi LCM of 42, 70, 98 and 126 is 
42, 70, 98 3r 126 T yrgA I 
A) 126 
C) 4410 

A) 3 
C)4 

A) 81 

What value must be given to % so that the number 6912 * Is divisible by 25? 

C) 85 

Which one of the following is a prime number? 

C) 8 

A) 40 

C) 55 

B) Lord Lilinghgow / ` fafret 

D) Lord Cormwellis / aIZ FTàufri 

B) IInd 

A)6 
C) 12 

D) IVh 

The HCF and LCM of two number are 4 and 48 respectively. If one of these number is 12. the 
second number is 

B) Amartya Sen/ 3fru 1 
D) Suuian buly 

B) 2205 
D) 8820 

H3i oË HCF 3N LCM FH9T 4 3N 48 }I uf À YG HRT 12 uâ HI 
A) 16 

A) 100, profit 
C)120, loss 

B) 5 
D) 7 

The average of the height of 5 students having height 30,40, S50, 60 70 is 

A) 250% 

C)40% 

B) 83 

D) 87 

The cost of 6 kg rice is equal to the cost of 8 kg wheat. If the cost of wheat is 6 per kg. then 
the cost of 1 kg rice is 

B) 12 
D) 4 

B) 50 
D) 45 

As person buys 10 dozen pens at the rate of? 24 per dozen and sells them at the rate of? 36 a 
dozen. what is nis profit or ioss? 

B) 8 
D)? 14 

B)I00, loss 

D)120, profit 
Out of 600 students 240 are girls. What is the percentage of girls? 

B) 60% 
D) 24% 
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What is sImple interest on 1800 for 10 yr at the rate of 10%o per annum? A)R 3600 

C) 36) 
A man buys a radio for 900 and sell it for 1200, Find his gain per cent. 

A) 20% 
C) 30 

C) 29 

V 23 
H1) 25 

How many states are in India? r hd V fh H1? A) 32 

) Art 

14 reSR 

) 14 s 

) 3 Gi 
gET 3fafu arI 3 (3) Ga ygrt ? 

26 Gat 1965 

71) 26 a TaT 1961 

) 1976 

â) 1973 

) 1956 

B)? 1000 

D) 1800 

) 1966 

f) ai 1960 4 

B) 25 

D) 33% 

B) 30 
D) 28 

a1) 22 

) 28 

) 20 frcfar 
i) 14 H3 

) 3T yT 

a) 2 a 
Si) 4 Gia 

d1) 30 ta 1965 
S) 15 HT£ 1962 

a1) 1986 

G1) 1977 

) 1955 
) 1968 

a) at 1970o 
&) a 1963 
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